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1. Introduction
This contribution discusses the case where the maximum DCH Active Set size is larger than the maximum E-DCH Active Set size. In particular, the RRC Measurement Reports that are needed for this scenario are investigated.
2. Discussion
It is possible for the maximum DCH Active Set size to be configured so that it is larger than the maximum E-DCH Active Set size. This is because the E-DCH Active Set can be a subset of the DCH Active Set [1].
The benefit of having a maximum E-DCH Active Set size that is smaller than DCH Active Set size is the savings in terms of E-DCH-related downlink overhead and Node B/UE HW resources while retaining a good performance for DCH. E-DCH control data on E-HICH, in particular, is different from different Node Bs, which results in decreasing gain in the downlink for larger E-DCH Active Set sizes. To illustrate, with CS voice, having 4 cells in DCH Active Set is beneficial as all 4 links can be combined in the UE, but this is not always true for DL E-DCH control data.

For example, if the maximum Active Set size is configured to be 3 for E-DCH and 4 for DCH, when there are 3 cells in both the DCH and E-DCH Active Sets, it is possible for another cell that supports E-DCH to be added to the DCH Active Set. This is shown in the following diagram.

[image: image1]
Figure 1: Full E-DCH Active Set with new E-DCH cell added to DCH Active Set
Here, a decision must be made by the RNC on whether or not that cell should replace one of the cells in the E-DCH Active Set. To aid this decision, it is proposed that a new Measurement Report for Event 1C' is defined that allows cells in the E-DCH Active Set to be replaced with cells from the DCH Active Set. The following is an example that illustrates the proposal further.
In this example, it is assumed that:

· maximum configured active set size for DCH = 4

· maximum configured active set size for E-DCH = 3

· new event 1C' can only be triggered when E-DCH active set size = 3

· all cells in this scenario can support E-DCH


[image: image2]
Figure 2: Triggering new event 1C'
From the diagram above, the sequence of events are as follows:

1. DCH Active Set = {A, B, C, D}
E-DCH Active Set = {A, B, C}

Cell D then becomes better than cell A, and the new event 1C' is triggered and as a result, the E-DCH Active Set is updated so that cell A is replaced by cell D:

2. DCH Active Set = {B, C, D, A}
E-DCH Active Set = {B, C, D}

3. Conclusion
It is proposed that a new event 1C' is introduced that allows cells in the E-DCH Active Set to be replaced with cells from the DCH Active Set.
Current definition for Event 1C:

“a non-active primary CPICH becomes better than an active primary CPICH”
Proposed changes for Event 1C to accommodate E-DCH:

“a non-active E-DCH (but active DCH) primary CPICH becomes better than an active E-DCH primary CPICH”
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